US&S

BASKETS

&

INDUSTRIES

REF A-C

See Insulation

REF J&A# DESCRIPTION
A 180132-000 KIT, BASKET FOR 3/4” BAR
180132-001 KIT, BASKET FOR 1" BAR
C 180132-002 KIT, BASKET FOR 1 1/4” BAR
1A 140100-001 SCREW, SQUARE, 3/4-10 X 3 1/2"
1B 140100-005 SCREW, SQUARE, 3/4-10 X 3 3/4”
1c 140100-006 SCREW, SQUARE, 3/4-10 X 4"
2 027009-000 CHANNEL, INSULATOR, 4 HOLE
3A 027012-002 BUSHING, 3/4", L=31/32", FOR 3/4” BAR
3B 027012-000 BUSHING, 3/4”, L=1 7/32", FOR 1" BAR
3C 027012-001 BUSHING, 3/4”, L=1 15/32", FOR 1 1/4” BAR
4 027010-000 PLATE, INSULATOR, 1/8” THICK
5 150070-000 PLATE, CONNECTOR, 1/2"
6 013000-010 WASHER, SPLIT LOCK, 3/4" Z/P
7 013115-010 NUT, HEAVY HEX, 3/4-10 Z/P
8 014001-0920 PIN, COTTER, 3/16" X 1 1/4”
9 110071-001 BASKET, US&S
10 110072-001 RING, RETAINING
11 110036-003 NUT, 1 1/4-7 ADJUSTING
12 013032-000 WASHER, 2 1/4" X 3 1/16" X 5"
13 013211-324 SCREW, SQUARE, 3/8-16 X 1 1/2" ZIP
14 013000-006 WASHER, SPLIT LOCK , 3/8" Z/P
15 013100-006 NUT, HEX, 3/8-16 Z/P
16 026009-000 FITTING, PLUG 1/4-18 NPT SQHD Z/P

See Basket
Kit Table
Basket Kit
REF J&A # DESCRIPTION
225232-000 ASSEMBLY, BASKET
9 110071-001 BASKET, US&S
10 110072-001 RING, RETAINING
11 110036-003 NUT, 1 1/4-7 ADJUSTING
12 013032-000 WASHER, 2 1/4" X 3 1/16' X 5"
13 013211-324 SCREW, SQUARE, 3/8-16 X 1 1/2" Z/P
14 013000-006 WASHER, SPLIT LOCK, 3/8" Z/P
15 013100-006 NUT, HEX, 3/8-16 Z/P
16 026009-000 FITTING, PLUG, 1/4-18 NPT SQHD Z/P
Insulation Kits
REF J&A # DESCRIPTION
Al 180133-000 KIT, INSULATION FOR 3/4” BAR
Bl 180133-001 KIT, INSULATION FOR 1" BAR
C1l 180133-002 KIT, INSULATION FOR 1 1/4” BAR
2 027009-000 CHANNEL, INSULATOR, 4 HOLE
3A 027012-002 BUSHING, 3/4”, L=31/32", FOR 3/4” BAR
3B 027012-000 BUSHING, 3/4”, L=1 7/32", FOR 1" BAR
3C 027012-001 BUSHING, 3/4”, L=1 15/32", FOR 1 1/4” BAR
4 027010-000 PLATE, INSULATOR, 1/8” THK W/ 4 HOLES

Note: See Section 8 for full insulation set kits

9] L I L

38 N L

9] 0 0

85 2N O W W I 5 6 3

38

9] L

8 8 L

99 8 L

38 1 W W I

| 38 2 o

o e

J&A Industries, LLC 11918 Grandview Road Grandview, MO 64030

3.11

(800) 748-7722 Fax (913) 281-5722



